e04p01t05r-4000r8000M2p2
tor(I=1,m=0) Kin. pol(I=1,m=1) kin.

I I B I

[ I I
[TTTTTTT]

N

Pl

=
a1
=
N

[TTTTTTTT

=

1 1 T T T T T 1 | 40 l
— pol(lI=2

\ pol( )20
tor(I=3) | 0

TTTTTTTTT

Ll
A
o

N

Pilalal

1.3 1.3 14 14 1.5 1.2 1.3 1.3 14 14
pol(m=1) magn. pol(m=2) magn.

— Im[=1]
— =2 0.0

I I I I I I I I I L Re[l=1] 0.0 I I I /V\ I I I I
0.0 4\\/\/\ \/\\/f\/\,\\//\

[TTTTTTT

lll:| 0.0 I A N A R A N

Pl

1.3 1.3 14 14 1.5 1.2 1.3 1.3 14 14
H10,H20 at r=ri+1, (magn) pol(m=0) magn.

[TTTTTTT

— H10
— H20

Pl

H
)
I L

[ I

=
w
|
w
=
IS
[EEN
IS
=
6}
=
N



